K8, EE. EFRKEDOREKE L CFKDEERERE

1 REFKIBERK

= B T H %A £ 7K A H

mg/L | 5H16H 6H25H 7H18H 8H6H 9 10H
1,3-Y7un7na -~y (D-D) 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
2,2-DPA (¥ Z K& v ) 0. 08 <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
2,4-D ( 2,4-PA ) 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
E P N 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
M C P A 0. 005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
7 > e 7 2 0.9 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
7 vt 7 = = k 0. 006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
7 S 7 D4 N 0.01 <0.0001 <0.0001 <0.0001 <0.0001 <0.0001
7 = = * 2 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
7 2 ~ 7 zx 0. 006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
7 5 J m - ) 0.03 <0.0001 <0.0001 <0.0001 <0.0001 <0.0001
4 Y % ¥ F A v 0. 005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
4 YV 7 = v K A 0.001 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
4 Y 7 a7 (MIPC) 0.01 <0.0001 <0.0001 <0.0001 <0.0001 <0.0001
4 Y 7 aF 4 7 v JIPT) 0.3 <0.003 <0.003 <0.003 <0.003 <0.003
4 7 v X v Ak A (BP) 0. 09 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
ROV S 0. 006
PO S A SN 0.009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009
= 2 7 v #H N 7 0.03 <0.0003 = <0.0003 | <0.0003 | <0.0003 | <0.0003
7 47/ RA(TY T2k X, EDDP) 0. 006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
N 2 =T 0.08 <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
TRIVT Y — (T ra ) — L) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
TURRALT 7RV ) 0.01 <0. 0001 <0.0001 <0.0001 <0.0001 <0.0001
R/ = B 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
X v (A ) 0.03 <0.0003 = <0.0003 | <0.0003 | <0.0003 | <0.0003
+ U X K om B v 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
Ve =z V2 N Z10. 0006 [<0. 000006 | <0. 000006 |<0.000006 |<0.000006 |<0.000006
H 7 oz v A nr — L 0.008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008
Ve L v v 7 0.3 <0.003 <0.003 <0.003 <0.003 <0.003
B N U b (NAC) 0. 05 <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005
B om0 3R 0. 04 <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
b/ S A 0. 005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
¥ /7 7 7 I v (ACN) 0. 005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
x ¥ 7 vl v 0.3 <0.003 <0.003 <0.003 <0.003 <0.003
7 2 L =t v 0.03 <0.0003 = <0.0003 | <0.0003 | <0.0003 | <0.0003
7 U K ¥ — 2 0. 02 0. 02 0. 02 0. 02 0. 02
VA A S 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
7 v A 7 v v 7 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
Zm ) =hknw 7 = (CNP) [0.0001| <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
7 o m ¥ U Kk A 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
7 mowr % 1 = )L (TPN) 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
v 7 a D g 0.001 | <0.00001 | <0.00001 | <0.00001 | <0.00001 | <0.00001
¥ 7 7 & A (CYAP) 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
Y w wm ¥ (DCMU) 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
Y sz m X = L (DBN) 0.03 <0.0001 <0.0001 <0.0001 <0.0001 <0.0001
Y 7 w o R Z (DDVP) 0. 008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008
v v 1% v ~ 0. 005
FANVKRIA T IVT A AR) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
CFF AN A — R K 0. 005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
D4 F 7 = JL 0. 009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009
o m Ry ST F 0. 006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
v = Y v (CAD 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
oA ¥ X b U v 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
Y A b = = 0.05 <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005
D2 A k P N 0.03 <0.0003 = <0.0003 | <0.0003 | <0.0003 | <0.0003
A Y A A A 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
v A A =t v 0.8 <0.008 <0.008 <0.008 <0.008 <0.008
2 AN AB I (J1—3 ) JY

0.01 <0.0001 = <0.0001 | <0.0001 | <0.0001 | <0.0001
AFNAYF AT F—hMITC)
¥ 7 D = L 0.1 <0.001 <0.001 <0.001 <0.001 <0.001
7 7 7 FN 0.02 <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002




1 EBHKIERK (DDF)

F * v A oA 7 0. 08 <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
FAET 7 F— kAT 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
F oFE R o T 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
F 7 U b U F v 0.002 | 0.00009 | 0.00026 | 0.00008 = 0.00004 | 0.00002
F L 7 H A 7 (MBPMC) 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
I - T 0.006 | <0.00006 | <0.00006 | <0.00006 <0.00006 | <0.00006
kY 2 v Ak v (DEP) 0.005 | <0.00005 | <0.00005 | <0.00005 <0.00005 | <0.00005
Y oY T Y = 0.1 <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
- S B 0.06 | <0.0006 | <0.0006 = <0.0006  <0.0006 | <0.0006
> F o s I R 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
/3 7 = — 3 0. 005

1= ~ o * Z10.0009] <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
¥ 5 s B = 0.01 <0.0001 | <0.0001 & <0.0001 | <0.0001 | <0.0001
S S A A S 0.004 | <0.00004 | <0.00004 | <0.00004 = <0.00004 | <0.00004
7Y x—hMETSL—]) 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
v X T e FF 0.002 | <0.00003 | <0.00003 | <0.00003 = <0.00003 | <0.00003
v Uy 7 F o 7 0.02 <0.0002 | <€0.0002 | <0.0002 | <0.0002 | <0.0002
= o ¥ o Nz 0. 05 <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
7 4 7 m = 2 [0.0005[<0.000005 |<0.000005 |<0.000005 |<0.000005 |<0.000005
7 = = ko F F » (MEP) 0.01 <0.0001 | <0.0001 = <0.0001 | <0.0001 | <0.0001
7 = /) 7 4 A 7 (BPMC) 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7 = U A Y v 0.05 | <0.0005 | <0.0005 @ <0.0005 | <0.0005 | <0.0005
7 = v F A& v (IPP) 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
7 = v bk = — bk (PAP) 0.007 | <0.00007 | <0.00007 | <0.00007 = <0.00007 | <0.00007
7 = ¥ b 7 ¥ I K 0.01 <0.0001 | <0.0001 & <0.0001 | <0.0001 | <0.0001
7 v 7 A N 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
7 X J m — 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7 v 2 + 2 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
7 7F m 7 oz ¥V v 0. 02 <0.0002 | <€0.0002 | <0.0002 | <0.0002 | <0.0002
7 v T Y F A 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7 v F I s v — b 0. 05 <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 wu ¥ I K v 0.09 | <0.0009 | <0.0009 = <0.0009 | <0.0009 | <0.0009
7 wm  F A K R 0.004 | <0.00004 | <0.00004 | <0.00004 = <0.00004 | <0.00004
7 m ¥ oa F v — 0. 05 <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 v v ¥ I F 0. 05 <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 ol R F Y = 0. 05 <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 v £ 7 F R 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
~ J 3 V2 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
S S = T 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
A A= 0.09 | <0.0009 | <0.0009 = <0.0009 | <0.0009 | <0.0009
NI 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
~ v 2 v v 0.2 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
Ny T 4 AR Y 0.3 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
A R 0. 04 <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
RyTINT Y (RR YY) 0.01 <0.0001 | <0.0001 = <0.0001 | <0.0001 | <0.0001
~ v 7 v & — Fk 0.07 <0.0007 | <0.0007 | <0.0007 | <0.0007 | <0.0007
K A2 F 7T OB — b 0.003 | <0.00003 | <0.00003 | <0.00003 = <0.00003 | <0.00003
~ T FAF (v T V) 0.7 <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
A @ 7w v 7 (MCPP) 0.05 | <0.00005 | <0.00005 = <0.00005 | <0.00005 | <0.00005
A v N v 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A F T F v b 0.06 | <0.0006 | <0.0006 & <0.0006 | <0.0006 | <0.0006
A F X F F > (DMTP) 0.004 | <0.00004 | <0.00004 | <0.00004 = <0.00004 | <0.00004
A F VX A4 Ao v 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A M3I ) A FnrEV 0.04 | <0.0004 | <0.0004 = <0.0004  <0.0004 | <0.0004
A N U 7Y 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A 7 = F kv v b 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
A 7 o = N 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
S Jj 5 — b~ 0.005 | <0.00005 | <0.00005 | <0.00005 = <0.00005 | <0.00005
[ H ] 1 {1 1 0. 04 0.13 0. 04 0. 02 0.01
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6. 2 LEBEHKEFHK

6. 2. 1 TREKKRLTH
EE = K A E

po2

7 % I H
mg/L | 5A16H | 6H25H | 7HI8H 8H6H 9A10H

,3-YZ7unr 7 a2 (DD 0. 05 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005

2,2-DPA (¥ Z K v ) 0. 08 <0. 0008 <0. 0008 <0. 0008 <0. 0008 <0. 0008

2,4-D ( 2,4-PA ) 0. 02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
E p N 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
M C P A 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
7 v E3 7 A 0.9 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
7t 7 kS — k 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
7 k 7 v v 0.01 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
7 = u R A 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
7 B k 7 A 0.006 | <0.00006 | <0.00006 | <0.00006 & <0.00006 | <0.00006
77 7 =] - ) 0. 03 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
A4 J x ¥ F F v 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
A4 Y 7 = v K A 0.001 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
A4 Y 7 m B 7 (MPC) 0.01 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
Ay 7 aF F 7 AP 0.3 <0.003 <0.003 <0.003 <0.003 <0. 003
4 7 m X v 7k A (IBP) 0. 09 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
A4 X /7 7 r v v 0. 006

A4 v ¥ J 7 7 v 0.009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009
- A 7 v B N T 0. 03 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003

747 2V KRA(LY 72 KA, EDDP) 0.006 | <0.00006 | <0.00006 | <0.00006 & <0.00006 | <0.00006

T hT7 v Ty IR 0. 08 <0. 0008 <0. 0008 <0. 0008 <0. 0008 <0. 0008

TRITTY — (T raA — L) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004

TURANT 7RV TEY) 0.01 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001

I A7 = I O 0. 02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002

X v v M (H B 0.03 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003

= UV % X b m B v 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001

7 z Va N A 0. 0006 | <0. 000006 | <0. 000006 | <0.000006 | <0.000006 | <0.000006
B 7 x v A B — )b 0.008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008
7 v P 4 v 0.3 <0.003 <0.003 <0.003 <0.003 <0.003
v N U L (NAC) 0. 05 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005
H o 7 m NI K 0. 04 <0. 0004 <0. 0004 <0. 0004 <0. 0004 <0. 0004
b T N S 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
¥ 7 7 7 I v (ACN) 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
* Y 7 7 v 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
7 3 IV = v 0. 03 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003
7 v N Va — k 2 <0. 02 <0. 02 <0. 02 <0.02 <0.02
7 v &k ¥ ox — B 0.02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
s v * 7 m oy 7 0. 02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
Z/ma ) =hrna 7 = (CNP) 0.0001| <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
7 v v v U Rk A 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
7/ v w ¥ v = )b (TPN) 0. 05 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005
v 7 7 D4 v 0.001 | <0.00001 | <0.00001 | <0.00001 | <0.00001 | <0.00001
¥ 7 7 & A (CYAP) 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
v v =] v (bCMU) 0. 02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
v 7 m X = )L (DBN) 0. 03 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
Y 7/ u g K A (DDVP) 0.008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008
v 7 v b4 k 0. 005
FANERA(ZF T A ANY) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
CF A AR A— R EEK 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
A 7 = bV 0.009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009
Nk y ST F 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
~ v o~ (CAT) 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003

A 2 A b U v 0. 02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002

# k - - k 0. 05 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005

A k j v 0. 03 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003

A 7 v % v 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003

R ANEVIAVAGANI AV

A I =4 v 0.8 <0.008 <0.008 <0.008 <0.008 <0. 008

L AYN ABZ I (F1—35) BN
AFNAYFH T F—hMITC)

0.01 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001

Ea 7 D4 = v 0.1 <0.001 <0.001 <0.001 <0.001 <0.001

7 7 7 A 0. 02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002




2. 1 TREKKRLTE (0IF)

F F ¥ o AT 0.08 <0. 0008 <0.0008 <0. 0008 <0. 0008 <0. 0008
FAE T 7 F— kA F N 0.3 <0. 003 <0.003 <0. 003 <0. 003 <0. 003
P 0.02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
7 7 U v b U F v 0.002 | <0.00002 | <0.00002 | <0.00002 | <0.00002 | <0.00002
F v 7 H v 7 (MBPMC) 0. 02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
Uz m ¥ [0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
U 2 = ok v (DEP) 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
Y Y5 Y — 0.1 <0. 0008 <0. 0008 <0. 0008 <0. 0008 <0. 0008
I 0.06 <0. 0006 <0.0006 | <0.0006 <0.0006 | <0.0006
+ 7 = X I R 0.03 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003
3 > = — 0. 005

v ~ = + 2 [0.0009[ <0.00003 | <0.00003 = <0.00003 | <0.00003 = <0.00003
v s s v = L 0.01 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
S R A 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
vIYx—h(ETSL—]) 0. 02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
Y ¥ 7o FF 0.002 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
vy 7 F o oL 7 0.02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
v o = = Nz 0. 05 <0. 0004 <0.0004 | <0.0004 <0.0004 | <0.0004
7 4+ 7 wumw = A [0.0005]<0.000005 @ <0.000005 | <0.000005 | <0.000005 & <0.000005
7 = = kv F F o (MEP) 0.01 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
7 = /J 7 H ) 7 (BPMO) 0.03 <0.0003 | <0.0003 <0.0003 | <0.0003 <0. 0003
7 = U s Vv 0. 05 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005
7 = ¥ F F » PP) 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 <0.00006
7 = v b = — b (PAP) 0.007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0.00007
7 = ¥ b 7 ¥ I F 0.01 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
7 v 7 A N 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
7 % r m — 0.03 <0. 0003 <0. 0003 <0.0003 <0. 0003 <0. 0003
7 v N A 2 0.02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
7 7 a7 oz U v 0.02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
7 N 7 Y F A 0.03 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003
7 v F I 7 v — 0. 05 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005
7 =m ¥ I K v 0.09 <0. 0009 <0. 0009 <0. 0009 <0. 0009 <0. 0009
7 v F A Kk A 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
7 v ¥ a5 v = 0. 05 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005
7 o v ¥ I R 0. 05 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005
7 m X F Y — 0. 05 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005
7 w € 7 F K 0.1 <0. 001 <0.001 <0. 001 <0. 001 <0. 001
~ J 3 N 0.02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
~ v Yy oam v 0.1 <0. 001 <0. 001 <0. 001 <0.001 <0. 001
A =% 0. 09 <0. 0009 <0. 0009 <0. 0009 <0. 0009 <0. 0009
~ v v 7 o= F v 7 [0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
~ v 5 v v 0.2 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
N T o4 A E Y v 0.3 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
A Y 0.04 <0. 0004 <0.0004 | <0.0004 <0.0004 | <0.0004
RyTAFT Y (R2aPy) 0.01 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
~ vy 7 L k& — 0.07 <0. 0007 <0. 0007 <0. 0007 <0. 0007 <0. 0007
A 2 F 7 ¥ — k 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
~ I F A (~TF V) 0.7 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005
A =2 7 v v 7 (MCPP) 0.05 [ <0.00005 | <0.00005  <0.00005 | <0.00005  <0.00005
A % 3 JL 0.03 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003
A2 5 X ¥ 0. 06 <0. 0006 <0.0006 |  <0.0006 <0.0006 |  <0.0006
A F X F F v (DMIP) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
A F N K A4 A ou v 0.03 <0.0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003
A FI A FnrE YV 0.04 <0. 0004 <0.0004 | <0.0004 <0.0004 | <0.0004
A U T oY v 0.03 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003
A 7 = F k v b 0.02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
A 7 = = v 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
£ ) s — I 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
T H ] 12 il 1 <€0.01 <0.01 <0.01 <0.01 <0.01
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6. 2. 2 LREKKRLTH

=t 5 7 H B fE 28 S H H
mg/L | 5H16H 6 H 25 H THI18H 8H6H 9H10H

1,3-Y 7 nmno 7 a~y(D-D) 0. 05 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005
2,2-DPA( % Z K v ) 0. 08 <0. 0008 <0. 0008 <0. 0008 <0. 0008 <0. 0008
2,4-D(2,4-PA) 0. 02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
EPN 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
MCPA 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005  <0.00005
7 v 2 v N 0.9 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
7 kv 7 = — k 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006  <0.00006
7 S 5 v v 0.01 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
7 = o ﬂ< 2 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
7 3 ~ 5 z 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
7 I Z w  — 0.03 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
A4 Y x ¥ F oF v 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
A4 YV 7 = v K A 0.001 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
A Y 7 a7 MPC 0.01 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
A4 Y 7 aF A7 3APD 0.3 <0.003 <0. 003 <0.003 <0.003 <0. 003
{4 7 m X v & A (IBP) 0. 09 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002

A4 2 J U 2 T v 0. 006
A4 v K ) T 7 v 0.009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009
= 2 7 v B N 7 0.03 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003
747 2K A(ZY 7 2V kA, EDDP) 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
e I A - A 0.08 <0. 0008 <0. 0008 <0. 0008 <0. 0008 <0. 0008
TR)DT Y — (T ra A — L) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
TIURANLT 7 (R ) 0.01 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
il 7 A = S 0.02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
X v v M (H B 0.03 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003
+ UV % 2 K uw v v 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
Ve =z i R 2 10.0006 | <0. 000006 | <0. 000006 | <0. 000006 | <0. 000006 | <0. 000006
BT = v A R E — L 0.008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008
b % b v 7 0.3 <0.003 <0. 003 <0.003 <0.003 <0. 003
v N Y L (NAC) 0. 05 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005
Hor 7 owm N3 K 0.04 <0. 0004 <0. 0004 <0. 0004 <0. 0004 <0. 0004
/B S S A S 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
¥ /J 7 7 2 v (ACN) 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005  <0.00005
* ¥ 7 v v 0.3 <0. 003 <0. 003 <0. 003 <0.003 <0. 003
4 2 L = Nz 0.03 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003
VA S 2 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02
VAN A S 0. 02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
sy ow A 7w v 7 0.02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
sm ) =kna 7 x> (CNP) [0.0001] <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
7 m L ¥ U ok R 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
7 m o # ua = ) (TPN) 0. 05 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005
D 7 va D v 0.001 | <0.00001 | <0.00001 | <0.00001 = <0.00001 | <0.00001
> 7 7 & % (CYAP) 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 <0.00003
Y w wm  » (DCMU) 0.02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
Y 7 v < = , (DBN) 0.03 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
Y 7 m A AR A (DDVP) 0.008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008

D V4 U v k 0. 005
P2V RY (B F L FF AR 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
CFF AN TR I 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005  <0.00005
v A 7 v v 0.009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009
o mKR vy ST F N 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
v~ ¥ v  (CAD 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
oA K A N U v 0.02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
v A r = = 0.05 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005
D A ~ )} Nz 0.03 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003
o4 T Y ) 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
v A N o v 0.8 <0. 008 <0. 008 <0. 008 <0. 008 <0. 008

L AYN ABZ I (F1—35) BN
0.01 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
AFNAYFH T F—hMITC)

¥ 7 v = L 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
¥ v 5 N 0. 02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002




2. 2 LEREKKRLTE (DIF)

F F ¥ o AT 0.08 <0. 0008 <0.0008 <0. 0008 <0. 0008 <0. 0008
FAE T 7 F— kA F N 0.3 <0. 003 <0.003 <0. 003 <0. 003 <0. 003
P 0.02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
7 7 U v b U F v 0.002 | <0.00002 | <0.00002 | <0.00002 | <0.00002 | <0.00002
F v 7 H v 7 (MBPMC) 0. 02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
Uz m ¥ [0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
U 2 = ok v (DEP) 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
Y Y5 Y — 0.1 <0. 0008 <0. 0008 <0. 0008 <0. 0008 <0. 0008
I 0.06 <0. 0006 <0.0006 | <0.0006 <0.0006 | <0.0006
+ 7 = X I R 0.03 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003
3 > = — 0. 005

v ~ = + 2 [0.0009[ <0.00003 | <0.00003 = <0.00003 | <0.00003 = <0.00003
v s s v = L 0.01 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
S R A 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
vIYx—h(ETSL—]) 0. 02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
Y ¥ 7o FF 0.002 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
vy 7 F o oL 7 0.02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
v o = = Nz 0. 05 <0. 0004 <0.0004 | <0.0004 <0.0004 | <0.0004
7 4+ 7 wumw = A [0.0005]<0.000005 @ <0.000005 | <0.000005 | <0.000005 & <0.000005
7 = = kv F F o (MEP) 0.01 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
7 = /J 7 H ) 7 (BPMO) 0.03 <0.0003 | <0.0003 <0.0003 | <0.0003 <0. 0003
7 = U s Vv 0. 05 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005
7 = ¥ F F » PP) 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 <0.00006
7 = v b = — b (PAP) 0.007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0.00007
7 = ¥ b 7 ¥ I F 0.01 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
7 v 7 A N 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
7 % r m — 0.03 <0. 0003 <0. 0003 <0.0003 <0. 0003 <0. 0003
7 v N A 2 0.02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
7 7 a7 oz U v 0.02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
7 N 7 Y F A 0.03 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003
7 v F I 7 v — 0. 05 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005
7 =m ¥ I K v 0.09 <0. 0009 <0. 0009 <0. 0009 <0. 0009 <0. 0009
7 v F A Kk A 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
7 v ¥ a5 v = 0. 05 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005
7 o v ¥ I R 0. 05 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005
7 m X F Y — 0. 05 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005
7 w € 7 F K 0.1 <0. 001 <0.001 <0. 001 <0. 001 <0. 001
~ J 3 N 0.02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
~ v Yy oam v 0.1 <0. 001 <0. 001 <0. 001 <0.001 <0. 001
A =% 0. 09 <0. 0009 <0. 0009 <0. 0009 <0. 0009 <0. 0009
~ v v 7 o= F v 7 [0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
~ v 5 v v 0.2 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
N T o4 A E Y v 0.3 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
A Y 0.04 <0. 0004 <0.0004 | <0.0004 <0.0004 | <0.0004
RyTAFT Y (R2aPy) 0.01 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
~ vy 7 L k& — 0.07 <0. 0007 <0. 0007 <0. 0007 <0. 0007 <0. 0007
A 2 F 7 ¥ — k 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
~ I F A (~TF V) 0.7 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005
A =2 7 v v 7 (MCPP) 0.05 [ <0.00005 | <0.00005  <0.00005 | <0.00005  <0.00005
A % 3 JL 0.03 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003
A2 5 X ¥ 0. 06 <0. 0006 <0.0006 |  <0.0006 <0.0006 |  <0.0006
A F X F F v (DMIP) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
A F N K A4 A ou v 0.03 <0.0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003
A FI A FnrE YV 0.04 <0. 0004 <0.0004 | <0.0004 <0.0004 | <0.0004
A U T oY v 0.03 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003
A 7 = F k v b 0.02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
A 7 = = v 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
£ ) s — I 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
T H ] 12 il 1 <€0.01 <0.01 <0.01 <0.01 <0.01
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6. 3 FEESRKIGEK
EIE B IR Jii E]

=t i IE\‘
= o i : mg/L | 5J116H 6H25H THI18H 8H6H 9H10H

1,3-Y7nmnr 7 a~X(D-D) 0.05 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005

2,2-DPA (¥ J &K v ) 0.08 <0. 0008 <0. 0008 <0. 0008 <0. 0008 <0. 0008

2,4-D ( 2,4-PA ) 0.02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
E P N 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
M C P A 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
A v E3 7 A 0.9 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
7 v 7 = — 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
7 k 7 v v 0.01 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
7 = =4 zN A 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
7 3 h 7 A 0. 006 | <0.00006 | <0.00006 & <0.00006 | <0.00006 | <0.00006
T 7 7 wu  — ) 0.03 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
4 Y % ¥ F A v 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
A4 Y 7 = v K A 0.001 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
A4 Y 7 m B 7 (MPC) 0.01 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
A4 Y 7 aF F 7 APD 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
A4 7 v X v &K A (IBP) 0.09 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
4 X 7 x v v 0. 006

A4 v ¥ 7 7 7 v 0.009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009
= X 7 wu Ah N 7 0.03 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003

7 472/ KA(TY 7 2V kA, EDDP) 0.006 | <0.00006 | <0.00006 & <0.00006 | <0.00006 | <0.00006

T M7 2y ay s A 0.08 <0. 0008 <0. 0008 <0. 0008 <0. 0008 <0. 0008

TRV T Y = (I m A —)L) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004

TURRALVT (R ) 0.01 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001

A = B S 0.02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002

d X v W CH B W) 0.03 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003

y ¥ 2k r B v 0.1 <0.001 <0.001 <0.001 <0.001 <0.001

z Va N A 0. 0006 [<0. 000006 |<0.000006 |<0.000006 |<0.000006 |<0.000006

7 x v A b ur — )b 0.008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008

IV v D4 v 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003

N o8 U v (NAC) 0.05 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005

N7 m N IR 0.04 <0. 0004 <0. 0004 <0. 0004 <0. 0004 <0. 0004

R A A 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005

J 7 7 I v (ACN) 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
Y 7 b v 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003

3 v =4 v 0.03 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003

U A - k 2 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02
A 0.02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002

n X 7 v v 7 0.02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002

7)) =hknm 7 = (CNP) 0. 0001 <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003

= - 0. 003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003

MMAVAVAVIEGENIE] A IR R R AR RS IR RE AR JRS RS AR

n o % = ) (TPN) 0.05 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005
7 7 v v 0.001 | <0.00001 | <0.00001 | <0.00001 | <0.00001 | <0.00001
7 /& A (CYAP) 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
7 a v (DCMU) 0.02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
7 m ~ = L (DBN) 0.03 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
7 mu N R A (DDVP) 0.008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008

7 % P4 k 0. 005
PANKIAA(ZFNVFF AR 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
I A B NNA— R 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
D Ea 7 =4 IV 0.009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009
vonum kK y ST F 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
v ~ 4 v (CAT) 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003

v oA Z A U v 0.02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002

YR k - — k 0.05 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005

v # k ) v 0.03 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003

Z 4 7T v 7 v 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003

vl A A = v 0.8 <0. 008 <0. 008 <0. 008 <0. 008 <0. 008

LAY AZ L (T —30) B

. 0.01 <0.0001 = <0.0001 | <0.0001 | <0.0001 | <0.0001
AFNAYF AT F—hMITC)

Ea 7 v = v 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001

A v 7 2 0.02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002




EESKZEK (DDF)
-~
7

3

¥ v o 7 0. 08 <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
FAET 7 F— kAT 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
F oFE R o T 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
F 7 U o N U F v 0.002 | 0.00016 | 0.00029 | 0.00008 | 0.00005 | 0.00004
F v 7 4 7 (MBPMC) 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
A 0.006 | <0.00006 | <0.00006 | <0.00006 <0.00006 | <0.00006
YU 2 v ok > (DEP) 0.005 | <0.00005 | <0.00005 | <0.00005 <0.00005 | <0.00005
Y oY T Y = 0.1 <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
- S B 0.06 | <0.0006 | <0.0006 = <0.0006  <0.0006 | <0.0006
> F o s I R 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
/3 7 = — 3 0. 005

1= ~ o + Z10.0009] <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
v 5 s v = 0.01 <0.0001 | <0.0001 & <0.0001 | <0.0001 | <0.0001
[ A 0.004 | <0.00004 | <0.00004 | <0.00004 = <0.00004 | <0.00004
7Y x—hMETSL—]) 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
vy ¥ 7oy F A 0.002 | <0.00003 | <0.00003 | <0.00003 = <0.00003 | <0.00003
v Uy 7 F o 7 0.02 <0.0002 | <€0.0002 | <0.0002 | <0.0002 | <0.0002
= o * =t v 0. 05 <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
7 4 7 m = 2 [0.0005[<0.000005 |<0.000005 |<0.000005 |<0.000005 |<0.000005
7 = = ko F F » (MEP) 0.01 <0.0001 | <0.0001 = <0.0001 | <0.0001 | <0.0001
7 = / 7 #H ) 7 (BPMO) 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A VN N2 0.05 | <0.0005 | <0.0005 @ <0.0005 | <0.0005 | <0.0005
7 = v F A& v (IPP) 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
7 = v bk = — bk (PAP) 0.007 | <0.00007 | <0.00007 | <0.00007 = <0.00007 | <0.00007
7 = ¥ b 7 ¥ I K 0.01 <0.0001 | <0.0001 & <0.0001 | <0.0001 | <0.0001
7 v 7 A N 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
7 % s a — 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7 v 2 + 2 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
7 7 v 7 oz ¥ v 0. 02 <0.0002 | <€0.0002 | <0.0002 | <0.0002 | <0.0002
7 v T Y F A 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7 v F T 7 v — ) 0. 05 <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 wu ¥ I K v 0.09 | <0.0009 | <0.0009 = <0.0009 | <0.0009 | <0.0009
7 wm  F A K R 0.004 | <0.00004 | <0.00004 | <0.00004 = <0.00004 | <0.00004
7 m ¥ oa F v — 0. 05 <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 v v ¥ I F 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 ol R F Y = 0. 05 <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 v £ 7 F R 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
~ J N V2 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
S S = T 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
A - 0.09 | <0.0009 | <0.0009 = <0.0009 | <0.0009 | <0.0009
Ny Y 7 o2 F oy T 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
~ v v v v 0.2 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
Ny T 4 AR Y 0.3 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
N v 7 T h T 0. 04 <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
RyTINT Y (RR YY) 0.01 <0.0001 | <0.0001 = <0.0001 | <0.0001 | <0.0001
~ v 7 v & — Fk 0.07 <0.0007 | <0.0007 | <0.0007 | <0.0007 | <0.0007
x A F 7T ¥ — b 0.003 | <0.00003 | <0.00003 | <0.00003 = <0.00003 | <0.00003
S5 F A~ T V) 0.7 <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
A @ 7w v 7 (MCPP) 0.05 | <0.00005 | <0.00005 = <0.00005 | <0.00005 | <0.00005
A v N v 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A X T X v )L 0.06 | <0.0006 | <0.0006 & <0.0006 | <0.0006 | <0.0006
A F X F F > (DMTP) 0.004 | <0.00004 | <0.00004 | <0.00004 = <0.00004 | <0.00004
A F L KX A4 A v v 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A~ I A Mr VvV 0.04 | <0.0004 | <0.0004 = <0.0004  <0.0004 | <0.0004
A N U 7Y 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A 7 = F v h 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
A v =t = L 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
S Jj 5 — b~ 0.005 | <0.00005 | <0.00005 | <0.00005 = <0.00005 | <0.00005
[ H ] 1 {1 1 0.08 0.14 0. 04 0. 02 0.02
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4 EEHKIFFRK
% B T H B fE " 7K A H
mg/L 5H16H 6H25H TH18H 8H6H 9H10H

1,3-Y7mnr 7y (DD) 0.05 | <0.0005 | <0.0005 | <0.0005 & <0.0005 | <0.0005
2,2-DPA (&% 7 K v ) 0.08 | <0.0008 | <0.0008 | <0.0008 & <0.0008 | <0.0008
2,4-D ( 2,4-PA ) 0.02 | <0.0002 | <0.0002 | <0.0002 & <0.0002 | <0.0002
E P N 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
M C P A ] 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
7 v a2 5 N 0.9 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
7 v 7 = — b 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
7 b~ 5 v v 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = o * 2 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
7 3 ~ 5 z 0.006 | <0.00006 | <0.00006 | <0.00006 = <0.00006 & <0.00006
7 5 r =m — 0.03 | <0.0001 | <0.0001 | <0.0001 & <0.0001 | <0.0001
4 Y % ¥ F A+ v 0.005 | <0.00005 | <0.00005 | <0.00005 & <0.00005 | <0.00005
4 Y 7 = v K = 0.001 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
A Y 7 va B 7 (MIPC) 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
A4 Y FuF A TP 0.3 <0.003 <0. 003 <0.003 <0. 003 <0. 003
{4 7 m X v K A (IBP) 0.09 | <0.0002 | <0.0002 | <0.0002 @ <0.0002 | <0.0002
A4 2 v x0T v 0. 006
A4 v X T 7 v 0.009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009
™ 2 7 v H L 7 0.03 | <0.0003 | <0.0003 | <0.0003 & <0.0003 | <0.0003
7 472 KA(TY 72K A EDDP) 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 @ <0.00006
BN S =T 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
TRYDT Y = (T ra A — L) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
TURANT 7RV ) 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
T A A =T N 0.02 | <0.0002 | <0.0002 | <0.0002 @ <0.0002 | <0.0002
X v CH B 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
+ U H 2 ko r v 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
7 =z + N 2 10.0006[<0. 000006 | <0.000006 |<0.000006 |<0.000006 |<0.000006
B 7 = v A knBn — 0.008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008
7 v i v v 0.3 <0.003 <0. 003 <0.003 <0. 003 <0. 003
v N U b (NAC) 0.05 | <0.0005 | <0.0005 | <0.0005 @ <0.0005 <0.0005
oo 7 owm NI R 0.04 | <0.0004 | <0.0004 | <0.0004 & <0.0004 | <0.0004
A A 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
¥ / 7 7 2 ¥ (ACN) 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
* ¥ 7 v v 0.3 <0.003 <0. 003 <0.003 <0. 003 <0. 003
Y 3 I = v 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003  <0.0003
7 Uy Kk ¥ = b 2 <0. 02 <0.02 <0. 02 <0. 02 <0.02
VAR N S 0.02 | <0.0002 | <0.0002 | <0.0002 & <0.0002 | <0.0002
sy o m A 7 v oy 7 0.02 | <0.0002 | <0.0002 | <0.0002 & <0.0002 | <0.0002
sm ) =hnua7 = (CNP) [0.0001] <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
7 m L ¥ U K A 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
7 oo #Z o = /L (TPN) 0.05 | <0.0005 | <0.0005 | <0.0005 & <0.0005 | <0.0005
D 7 b2 v v 0.001 | <0.00001 | <0.00001 | <0.00001 | <0.00001 | <0.00001
> 7 7 & A (CYAP) 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
Y v v v (DCMU) 0.02 | <0.0002 | <0.0002 | <0.0002 @ <0.0002 | <0.0002
2 7 m ~ = J (DBN) 0.03 | <0.0001 | <0.0001 | <0.0001 = <0.0001 | <0.0001
Y 7 m A KR =z (DDVP) 0.008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008
v Vi 1% v b~ 0. 005
DAV (T FFARY) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
CFF BN A— T K 0.005 | <0.00005 | <0.00005 | <0.00005 & <0.00005 | <0.00005
v ¥ % = v 0.009 | <0.00009 | <0.00009 | <0.00009 = <0.00009 | <0.00009
oKk oy ST F 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
v <= ¥ v (CAD 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
oA 2 A U v 0.02 | <0.0002 | <0.0002 | <0.0002 @ <0.0002 | <0.0002
D2 S NN 0.05 | <0.0005 | <0.0005 | <0.0005 @ <0.0005 | <0.0005
D A ~ ] v 0.03 | <0.0003 | <0.0003 | <0.0003 & <0.0003 | <0.0003
x4 T Y ) 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
v A N o v 0.8 <0. 008 <0. 008 <0.008 <0. 008 <0.008
LAY AR (B —35) B

. 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
AF VAV F AT F—FMITC)
¥ 7 D2 = v 0.1 <0. 001 <0. 001 <0. 001 <0.001 <0. 001
¥ 1% F 2 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 & <0.0002




4 EEFKEHRK (DIF)
F X v o 7 0.08 <0. 0008 <0. 0008 <0. 0008 <0. 0008 <0. 0008
FAET7 7 x— A TF N 0.3 <0.003 <0.003 <0.003 <0.003 <0.003
F F X o v T 0. 02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
> 7 9 vV F v 0.002 | <0.00002 | <0.00002 | <0.00002 | <0.00002 | <0.00002
7 N 7 J v 7 (MBPMC) 0. 02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
k U 7 = | 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
YU 27 v &k v (DEP) 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
Y Yy Ty — 0.1 <0. 0008 <0. 0008 <0. 0008 <0. 0008 <0. 0008
. A 0. 06 <0. 0006 <0. 0006 <0. 0006 <0. 0006 <0. 0006
> 7 v N N N 0.03 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003
a 7 = - k 0. 005
= ~ =4 R A 0. 0009 <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
v 7 7 2 = J 0.01 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
v 7 v ¥ v 7 oz v 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
IR —M(EFVSL—]) 0. 02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
vy X T Tt 0.002 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
vy 7 F o 7 0. 02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
= =4 % =4 v 0.05 <0. 0004 <0. 0004 <0. 0004 <0. 0004 <0. 0004
7 4 7 om = ) 0. 0005 [<0. 000005 |<0. 000005 |<0.000005 |<0.000005 |<0.000005
7 = = ko F A  (MEP) 0.01 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
7 = J 7 51 v 7 (BPMO) 0.03 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003
7 = U N 0.05 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005
7 = v F A& v (PP) 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
7 = v b = — | (PAP) 0.007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0.00007
7 = v b 7 ¥ I K 0.01 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
7 VA 7 A N 0.1 <0.001 <0.001 <0.001 <0.001 <0. 001
7 4 7 2 — ) 0.03 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003
7 7 3 R A 0. 02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
7 7w 7 o= ¥ v 0. 02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
A A A 0.03 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003
7 v F 7 7 v — 0.05 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005
7 = PR R v 0.09 <0. 0009 <0. 0009 <0. 0009 <0. 0009 <0. 0009
7 = F A &k R 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
7 v v a ) v — 0.05 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005
7 = v r 0.05 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005
7 a Xy — 0.05 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005
7 wv ® 7 F N 0.1 <0.001 <0.001 <0.001 <0.001 <0. 001
~ / N v 0. 02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
~ v 7 =4 v 0.1 <0.001 <0.001 <0.001 <0.001 <0.001
N v Y v Y g o v 0.09 <0. 0009 <0. 0009 <0. 0009 <0. 0009 <0. 0009
N v YT =y T 0. 005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
~ v 7 >V v 0.2 <0.002 <0.002 <0. 002 <0.002 <0. 002
N T o A E Y v 0.3 <0. 001 <0.001 <0.001 <0.001 <0. 001
~ v 7 7 v 7 0.04 <0. 0004 <0. 0004 <0. 0004 <0. 0004 <0. 0004
RUTANTY s (RARVY) 0.01 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
~N v 7 v ' — | 0.07 <0. 0007 <0. 0007 <0. 0007 <0. 0007 <0. 0007
x A F 7 € — F 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
~ 7 FFr(~TF7 V) 0.7 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005
A a2 7 v v 7 (MCPP) 0.05 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
A 4 2 v 0.03 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003
F v 7 * ¥ 0. 06 <0. 0006 <0. 0006 <0. 0006 <0. 0006 <0. 0006
A F ¥ F F v~ (DMIP) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
ATF NV HE A4 A oBv v 0.03 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003
A F X /A b nw BV 0. 04 <0. 0004 <0. 0004 <0. 0004 <0. 0004 <0. 0004
# bk Y 7 v v 0.03 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003
A 7 = F & v b 0. 02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
# P =4 = iz 0.1 <0.001 <0.001 <0.001 <0.001 <0.001
£ J = — h 0. 005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
H 5 15 fiE 1 <0.01 <0.01 <0.01 <0.01 <0.01
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6. 5 ZEFHKFRERK

2 P 1 H F A e 2 7k H A

mg/L 5H16H 6H25H 7THI18H 8H6H 9H10H
13-y 27aarr~xr DD 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
2,2-DPA (¥ 7 & v ) 0.08 <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
2,4-D ( 2,4-PA ) 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
E p N 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 = <0.00004
M C p A | 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 @ <0.00005
7 o o 7 N 0.9 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
7 v 7 = — k 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 = <0.00006
7 b 7 D v 0.01 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
7 = = * 3 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 = <0.00003
7 2 ~ 5 Z [ 0.006 | <0.00006 = <0.00006 | <0.00006 | <0.00006  <0.00006
7 5 s v — 0.03 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
A4 Y % % F F > |0.005]| <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
4 vV 7 = v &k A 0.001 | <0.00003 | <0.00003 | <0.00003 | <0.00003 = <0.00003
A4 Y 7 wm B 7 (MPC) 0.01 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
A4 Y 7 aF 4 7 v AP 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
A4 7 v X v &k Z (IBP) 0.09 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
A4 2 v F ¥ v ]0.006
A4 v ¥ 2 7 7 v 10.009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009
= 2 7 v H A 7 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
547z RA(TY 7=k A, EDDP) 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 = <0.00006
T N7 xy S oy YA 0.08 <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
TR)DT Y — (T ru A — L) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 = <0.00004
TURANLT 7RV TEY) 0.01 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
X VY s m A K v 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
A X v 8 F W) 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
+ UV ¥ 2 kB B v 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
7 z A R Z - 10.0006 | <0. 000006 | <0. 000006 | <0.000006 |<0.000006 | <0.000006
J 7 = v A b m — s |0.008| <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008
7 L v > va 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
B v N U L (NAC) 0. 05 <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
B 7 w8 3R 0. 04 <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
B R 7 5 > |0.005| <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
¥ /, Z/ 5 I v (ACN) ]0.005 | <0.00005 —<0.00005 | <0.00005 | <0.00005  <0.00005
* ¥ 7 v v 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
Y N V2 o v 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A A 2 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02
VAR N SEEE 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
V2N = B S A = S 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
sm A =hknr 7= (CNP) ]0.0001[ <0.00003 <0.00003 | <0.00003 | <0.00003 <0.00003
7 w g F U ok R 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 = <0.00003
s mom % 1 = 5 (TPN) 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
D 7 + D > 10.001 | <0.00001 | <0.00001 | <0.00001 | <0.00001 | <0.00001
v 7 ) &K X (CYAP) 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 = <0.00003
Y v nm ¥ (DCMU) 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
Y 7 v X = 1 (DBN) 0.03 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
Y 7 v o K Z (DDVP) 0.008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 & <0.00008
¥ z 1% > k 0. 005
VAR (T VT F AR 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 = <0.00004
CFF AN NA—RFREI ]0.005 [ <0.00005 = <0.00005 | <0.00005 | <0.00005  <0.00005
D ¥ %+ v A ] 0.009 [ <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009
v onmk vy 77 F o ]0.006 [ <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
¥ = ¥ v (CAT) ]0.003 | <0.00003 = <0.00003 | <0.00003 | <0.00003 | <0.00003
YA K A b U v 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
Y A b = = b 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
v A b j v 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
2 A4 7 ¥ 2 v 10.003| <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
v 4 N =t v 0.8 <0. 008 <0. 008 <0. 008 <0. 008 <0. 008
KA AB (T =3 1) Fe R

0.01 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
AF AV F AT F—HMITC)
¥ 7 v = v 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
5 % 7 N 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002




5 ZFHFKEBREK (00F)

F * Y A oA T 0.08 <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
FAE T 7 Fx— AT 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
F oF R oA T 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
F 7 U A bV F v 0.002 | 0.00044 | 0.00050 | 0.00006  0.00004 & 0.00002
F N 7 #H A 7 (MBPMC) 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
[ = T 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 = <0.00006
U 2 v & > (DEP) 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 @ <0.00005
Y Yy T Y = 0.1 <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
Y 7oA 5 U 0. 06 <0.0006 | <0.0006 | <0.0006 | <0.0006 |  <0.0006
+ 7 w s I K 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A = = — K 0. 005

= ~ = + Z10.0009] <0.00003 | <0.00003 | <0.00003 | <0.00003 = <0.00003
¥ s uw = 0.01 0. 0002 0. 0001 <0. 0001 <0. 0001 <0. 0001
S A 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 = <0.00004
IR —METVL—1]) 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
vy X 7 oy FoF v 0.002 | <0.00003 | <0.00003 | <0.00003 | <0.00003 = <0.00003
vy 7 F o7 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
= = * = v 0.05 <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
7 4 7 m = 2 ]0.0005<0.000005 |<0.000005 |<0.000005 |<0.000005 | <0.000005
7 = = kua F F > (MEP) 0.01 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
7 = J 7 F v 7 (BPMO) 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
e N 2 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 = v F F v (PP 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 = <0.00006
7 = ¥ k x — b (PAP) 0.007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 = <0.00007
7 = ¥ b 7 ¥ I K 0.01 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
7 V2 % A N 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
7 X s m — J 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7 v 3 N 2 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
7 7 a7 oz ¥ v 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
7 v T Y F A 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7 v F 7 7 v — 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
A 0. 09 <0.0009 | <0.0009 | <0.0009 | <0.0009 |  <0.0009
7 v F A K R 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 = <0.00004
7w ¥ a5 v — 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 ®m ¥ ¥ I F 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005 |  <0.0005
7 om R = 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005 |  <0.0005
7 w ® 7 F F 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
~ J 2 v 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
B - 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
XY v Yy oa v 0. 09 <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009
~X v v 7 = F v 7 [0.005| <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
~ v 2 v v 0.2 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
Ny T 4 AR Y v 0.3 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
A 'R 0.04 <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
RUTINT Y (RA YY) 0.01 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
~ vy 7 L & — K 0.07 <0.0007 | <0.0007 | <0.0007 | <0.0007  <0.0007
K o2 F 7T OB — b 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 & <0.00003
~ T FF (v T ) 0.7 <0.0005 | <0.0005 | <0.0005 | <0.0005  <0.0005
A = 7w vy 7 (MCPP) 0.05 | <0.00005 | <0.00005 | <0.00005 | <0.00005  <0.00005
A M N v 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A X T x ¥ b 0. 06 <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006
A F F F £ > (DMIP) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 = <0.00004
A F LK A4 A ouv v 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A FI ) 2 Fnov v 0. 04 <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
. N B A 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A 7 = F kB v b 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
# v = = v 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
S j e — b 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 @ <0.00005
i H & 12 1 1 0. 24 0.26 0.03 0. 02 0.01
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6. 6 ZFFREKEFRK

% B T H B fE " 7K A H
mg/L 5H16H 6H25H TH18H 8H6H 9H10H

1,3-Y7mnr 7y (DD) 0.05 | <0.0005 | <0.0005 | <0.0005 & <0.0005 | <0.0005
2,2-DPA (&% 7 K v ) 0.08 | <0.0008 | <0.0008 | <0.0008 & <0.0008 | <0.0008
2,4-D ( 2,4-PA ) 0.02 | <0.0002 | <0.0002 | <0.0002 & <0.0002 | <0.0002
E P N 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
M C P A ] 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
7 v a2 5 N 0.9 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
7 v 7 = — b 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
7 b~ 5 v v 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = o * 2 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
7 3 ~ 5 z 0.006 | <0.00006 | <0.00006 | <0.00006 = <0.00006 & <0.00006
7 5 r =m — 0.03 | <0.0001 | <0.0001 | <0.0001 & <0.0001 | <0.0001
4 Y % ¥ F A+ v 0.005 | <0.00005 | <0.00005 | <0.00005 & <0.00005 | <0.00005
4 Y 7 = v K = 0.001 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
A Y 7 va B 7 (MIPC) 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
A4 Y FuF A TP 0.3 <0.003 <0. 003 <0.003 <0. 003 <0. 003
{4 7 m X v K A (IBP) 0.09 | <0.0002 | <0.0002 | <0.0002 @ <0.0002 | <0.0002
A4 2 v x0T v 0. 006
A4 v X T 7 v 0.009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009
™ 2 7 v H L 7 0.03 | <0.0003 | <0.0003 | <0.0003 & <0.0003 | <0.0003
7 472 KA(TY 72K A EDDP) 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 @ <0.00006
BN S =T 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
TRYDT Y = (T ra A — L) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
TURANT 7RV ) 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
T A A =T N 0.02 | <0.0002 | <0.0002 | <0.0002 @ <0.0002 | <0.0002
X v CH B 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
+ U H 2 ko r v 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
7 =z + N 2 10.0006[<0. 000006 | <0.000006 |<0.000006 |<0.000006 |<0.000006
B 7 = v A knBn — 0.008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008
7 v i v v 0.3 <0.003 <0. 003 <0.003 <0. 003 <0. 003
v N U b (NAC) 0.05 | <0.0005 | <0.0005 | <0.0005 @ <0.0005 <0.0005
oo 7 owm NI R 0.04 | <0.0004 | <0.0004 | <0.0004 & <0.0004 | <0.0004
A A 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
¥ / 7 7 2 ¥ (ACN) 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
* ¥ 7 v v 0.3 <0.003 <0. 003 <0.003 <0. 003 <0. 003
Y 3 I = v 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003  <0.0003
7 Uy Kk ¥ = b 2 <0. 02 <0.02 <0. 02 <0. 02 <0.02
VAR N S 0.02 | <0.0002 | <0.0002 | <0.0002 & <0.0002 | <0.0002
sy o m A 7 v oy 7 0.02 | <0.0002 | <0.0002 | <0.0002 & <0.0002 | <0.0002
sm ) =hnua7 = (CNP) [0.0001] <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
7 m L ¥ U K A 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
7 oo #Z o = /L (TPN) 0.05 | <0.0005 | <0.0005 | <0.0005 & <0.0005 | <0.0005
D 7 b2 v v 0.001 | <0.00001 | <0.00001 | <0.00001 | <0.00001 | <0.00001
> 7 7 & A (CYAP) 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
Y v v v (DCMU) 0.02 | <0.0002 | <0.0002 | <0.0002 @ <0.0002 | <0.0002
2 7 m ~ = J (DBN) 0.03 | <0.0001 | <0.0001 | <0.0001 = <0.0001 | <0.0001
Y 7 m A KR =z (DDVP) 0.008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008
v Vi 1% v b~ 0. 005
DAV (T FFARY) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
CFF BN A— T K 0.005 | <0.00005 | <0.00005 | <0.00005 & <0.00005 | <0.00005
v ¥ % = v 0.009 | <0.00009 | <0.00009 | <0.00009 = <0.00009 | <0.00009
oKk oy ST F 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
v <= ¥ v (CAD 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
oA 2 A U v 0.02 | <0.0002 | <0.0002 | <0.0002 @ <0.0002 | <0.0002
D2 S NN 0.05 | <0.0005 | <0.0005 | <0.0005 @ <0.0005 | <0.0005
D A ~ ] v 0.03 | <0.0003 | <0.0003 | <0.0003 & <0.0003 | <0.0003
x4 T Y ) 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
v A N o v 0.8 <0. 008 <0. 008 <0.008 <0. 008 <0.008
LAY AR (B —35) B

. 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
AF VAV F AT F—FMITC)
¥ 7 D2 = v 0.1 <0. 001 <0. 001 <0. 001 <0.001 <0. 001
¥ 1% F 2 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 & <0.0002




FiEKBEK (DDEF)

ga
=2
r Y B o T
7

6

A 0.08 <0. 0008 <0. 0008 <0. 0008 <0. 0008 <0. 0008
F A 7 X — h A F N 0.3 <0.003 <0.003 <0.003 <0.003 <0.003
F F X o v T 0. 02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
> 7 9 vV F v 0.002 | <0.00002 | <0.00002 | <0.00002 | <0.00002 | <0.00002
7 N 7 J v 7 (MBPMC) 0. 02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
k U 7 = | 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
YU 27 v &k v (DEP) 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
Y Yy Ty — 0.1 <0. 0008 <0. 0008 <0. 0008 <0. 0008 <0. 0008
. A 0. 06 <0. 0006 <0. 0006 <0. 0006 <0. 0006 <0. 0006
> 7 v N N N 0.03 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003
a 7 = - k 0. 005

= ~ =4 R A 0. 0009 <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
v 7 7 2 = J 0.01 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
v 7 v ¥ v 7 oz v 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
IR —M(EFVSL—]) 0. 02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
vy X T Tt 0.002 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
vy 7 F o 7 0. 02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
= =4 % =4 v 0.05 <0. 0004 <0. 0004 <0. 0004 <0. 0004 <0. 0004
7 4 7 om = ) 0. 0005 [<0. 000005 |<0. 000005 |<0.000005 |<0.000005 |<0.000005
7 = = ko F A  (MEP) 0.01 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
7 = J 7 51 v 7 (BPMO) 0.03 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003
7 = U N 0.05 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005
7 = v F A& v (PP) 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
7 = v b = — | (PAP) 0.007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0.00007
7 = v b 7 ¥ I K 0.01 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
7 VA 7 A N 0.1 <0.001 <0.001 <0.001 <0.001 <0. 001
7 4 7 2 — ) 0.03 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003
7 7 3 R A 0. 02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
7 7w 7 o= ¥ v 0. 02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
A A A 0.03 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003
7 v F 7 7 v — 0.05 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005
7 = PR R v 0.09 <0. 0009 <0. 0009 <0. 0009 <0. 0009 <0. 0009
7 = F A &k R 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
7 v v a ) v — 0.05 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005
7 = v r 0.05 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005
7 a Xy — 0.05 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005
7 wv ® 7 F N 0.1 <0.001 <0.001 <0.001 <0.001 <0. 001
~ / N v 0. 02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
~ v 7 =4 v 0.1 <0.001 <0.001 <0.001 <0.001 <0.001
N v Y v Y g o v 0.09 <0. 0009 <0. 0009 <0. 0009 <0. 0009 <0. 0009
N v YT =y T 0. 005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
~ v 7 >V v 0.2 <0.002 <0.002 <0. 002 <0.002 <0. 002
N T o A E Y v 0.3 <0. 001 <0.001 <0.001 <0.001 <0. 001
~ v 7 7 v 7 0.04 <0. 0004 <0. 0004 <0. 0004 <0. 0004 <0. 0004
RUTANTY s (RARVY) 0.01 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
~N v 7 v ' — | 0.07 <0. 0007 <0. 0007 <0. 0007 <0. 0007 <0. 0007
x A F 7 € — F 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
~ 7 FFr(~TF7 V) 0.7 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005
A a2 7 v v 7 (MCPP) 0.05 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
A 4 2 v 0.03 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003
F v 7 * ¥ 0. 06 <0. 0006 <0. 0006 <0. 0006 <0. 0006 <0. 0006
A F ¥ F F v~ (DMIP) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
ATF NV HE A4 A oBv v 0.03 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003
A F X /A b nw BV 0. 04 <0. 0004 <0. 0004 <0. 0004 <0. 0004 <0. 0004
# bk Y 7 v v 0.03 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003
A 7 = F & v b 0. 02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
# P =4 = v 0.1 <0.001 <0.001 <0.001 <0.001 <0.001
£ J = — h 0. 005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
Jid H 5 15 fiE 1 <0.01 <0.01 <0.01 <0.01 <0.01
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